H & 0l & AHS B Ml A

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

ZH 28,462,3% 26,209,442 2,252,914
14,057,269

385,323
2,697,658
11,322,106

oW

=

NASE dgord X3 12,831,023 12,264,353 566,670

10,058,333
1,168,273
1,604,417

Mo

=

=D |=Me2F 11,123,979 10,478,785 645,194

8,742,600
1,090, 120
1,291,259

hoH

=

A= 10,859,700 10,159,600 700,100
8,687,700
1,086,000
1,086,000

o

=

301 LENZ 10,859,700 10,159,600 700,100
8,687,700
1,086,000
1,086,000

mhoH

=

01 Al EHAGZ2(2DEZME) 10,859,700 10,159,600 700,100
OdA=N 10,859,700
8,687,700
1,086,000
Al 1,086,000

Mo

wWEs 28,679 29,989 21,310

308 XXM SOOI 28,679 29,989 21,310

08 W= |&0tetEx 28,679 29,989 21,310
ME==16 28,679

[ PSP = 68,630 65,712 2,918
54,900
4,120
9,610

hoH

=

301 LENZ 68,630 65,712 2,918
54,900
4,120
9,610

hoH

=

01 A EBEHAGZ(ZDEZME) 68,630 65,712 2,918
Ol &R =0 68,630

54,900
4,120

Al 9,610

Mo




2A:

X XH -
o=

Chel: 20D |ZMESH (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
JIZMBBHARARAS 29 480 1,360 2830

202 Ot 480 800 A320
01 =WO4bI 480 800 A320
OINEMERE HYET
120,000 x22+2Z 480
KA 2= =8 22,490 1,050 21,440
201 L2 | 490 1,050 A560
01 At 22|l 490 1,050 AB60
AR F&LY 70,0002 7 490
207 ARIHLH| 22,000 22,000
01 HEGH| 22,000 22,000
OXGARIEHAHE JIZ==AL E2SF 22,000
Itae HASESE & 144,000 162,000 A 18,000
307 QI2Hol A 144,000 162,000 A 18,000
01 9= ¥ 3I=H| 144,000 162,000 A 18,000
Oxta?l NASE =HLEE=E XA 144,000
NAS eI 1,707,044 1,785,568 NT78,524
= 1,315,733
& 78,153
Al 313,158
KNS TEHE 29 (=4]) 324,076 262,284 61,792
= 226,854
Al 97,222
307 gI2Hol ™ 324,076 262,284 61,792
= 226,854
Al 97,222
10 AlZISXAEHE2EHIEX 324,076 262,284 61,792
OXYiEHH 23 324,076
= 226,854
Al 97,222
KteAtedl2tel =0t BRI K& 15,870 31,474 215,604
& 3,174
Al 12,6%6
307 QI2Hol M 15,870 31,474 215,604
& 3,174
Al 12,696
10 Al SEXAEHE2EHIEX 15,870 31,474 A 15,604
OXHEAL 22| BHX] AP 15,870
= 3,174
Al 12,696
RHEAt AAD |2 225} 6,000 6,000 0
& 1,200
Al 4,800




2A:

T HASS M XY
eelr MAS THEXH (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 212+01& 6,000 6,000 0
& 1,200
Al 4,800
10 Al2IS A8 E 22X 6,000 6,000 0
OXHEAY AAID[Z HAEk235} 6,000
= 1,200
Al 4,800
g2z X 1,225,042 1,290,775 65,733
= 980,034
= 73,502
Al 171,506
307 el2tol & 1,225,042 1,290,775 A\B5,733
= 980,034
& 73,502
Al 171,506
05 2IMRIE S 1,225,042 1,290,775 65,733
OoxgzZ2z X& 1,225,042
= 980,034
[ 73,502
Al 171,506
WSS AERE 537 537 0
- 430
Al 107
301 EtE N = 537 537 0
= 430
Al 107
01 Al EE A S(FRNEXA) 537 537 0
OslyII=sE1 A 537
= 430
Al 107
S| ISSH2 A 3,000 30,000 27,000
= 2,400
Al 600
301 LEtE NS 3,000 30,000 27,000
= 2,400
Al 600
01 Al EE A S (2 RDEXMR) 3,000 30,000 A27,000
OgI=s82 N& 3,000
= 2,400
Al 600
W2IISSE AEX2 5,400 65,028 A\59,628
= 4,320
Al 1,080




2A:

B HASE MBOIE K@
=2 MAS N2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 5,400 65,028 N59,628
= 4,320
Al 1,080
01 Al EE A2 (2RNEXMR) 5,400 65,028 N\59,628
ougdl=ss N 5,400
= 4,320
Al 1,080
FHS|YIISSE MEXE 1,405 1,405 0
= 1,124
Al 281
301 2PEN=S 1,405 1,405 0
= 1,124
Al 281
01 AR 2EHSFS(RRNEXRTHE) 1,405 1,405 0
OoFdslYIIssd A& 1,405
= 1,124
Al 281
FAMSAE NE 3,600 10,000 26,400
= 2,880
Al 720
301 22N = 3,600 10,000 26,400
= 2,880
Al 720
01 AR 2EAHSHS(RNEERTHE) 3,600 10,000 26,400
OFEN=EAZ X2 3,600
= 2,880
Al 720
SIUM=HE AR 12,707 12,707 0
= 10,165
Al 2,542
301 EetE NS 12,707 12,707 0
= 10,165
Al 2,542
01 Al 2E A S(EREXME) 12,707 12,707 0
O3 Z M=% XS 12,707
= 10,165
Al 2,542
SIAMFZAH 2 ALK 15,000 15,000 0
= 12,000
Al 3,000
301 EtE2 N = 15,000 15,000 0
= 12,000
Al 3,000
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2A:

SINESES N}

Ha: ZOMSTAMEIA LHH 2=
C9l: FOIMBXRAMHA NAMH 7= (69 =)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
FOUMETAMEI AN 29 8,140 8,300 A 160
201 LB-2AH| 500 500 0
01 AtR2telt] 500 500 0
OFCUIMEXAAMHIA HHEE S22
10,0002 5001 *13] 500
202 0441 2,640 2,800 A160
01 =LHOdH] 2,640 2,800 A 160
OFQMEBXANEIA H2EX
120,000&+2F *113] 2,640
203 R &I 5,000 5,000
03 A FRIHRFAIY| 5,000 5,000
OMASE MEOIHHH
5,000,000& 5,000
FHAANE B3 13,720 59,700 245,980
& 1,720
Al 12,000
ekt 3 6,400 9,140 A2, 740
& 720
Al 5,680
301 LetENZ 5,100 7,840 A2, 740
= 720
Al 4,380
02 MBI EEEGS(HUAS, XLTHEA) 5,100 7,840 A2,740
O3S =4l
7,0002 %10 +103 700
O it Heoddl 20,0003 x5 *103] 1,000
O™ 7S =]
50,0003 x5 *43| 1,000
O3g&dl A& 2,400
T 720
Al 1,680
308 AHXIHMSOIH 1,300 1,300
13 BI |2 SOICHEH B A XL E AL 1,300 1,300
ORHD AR 31 650,000& *x23| 1,300
2N =¥ 4,000 4,000
201 B2 AY| 4,000 4,000
03 HAr2 Y| 4,000 4,000
OREN =3 4,000
Moi7ES 22| 1,320 32,560 A31,240
201 L2 AH| 960 32,160 A31,200
01 AtR2elt] 600 31,800 231,200
ONoll#s =38 &1 RLIZHIAIAE KA
22| 50,0002 = 12J1 & 600
02 3324l 360 360 0




SN SX™MY
By ZOMBNANHIA BLHH 2=
=Rl FHYAS 25 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OM 75 252l & s
30,0002+ 1CH+ 123 360
202 04| 360 400 A0
01 =L LI 360 400 A0
S EER-EESS
120,000« 12 +32] 360
ek 28X# 2,000 14,000 A 12,000
< 1,000
Al 1,000
301 LtENZ 2,000 14,000 A12,000
= 1,000
Al 1,000
02 A EE AT S (FAANE, XLTHE) 2,000 14,000 12,000
ORpA9l 212 X 2,000
= 1,000
Al 1,000
AEE SEAMHIA JIEHHS 1,267,104 1,206,228 60,876
= 381,428
= 304,313
< 106,045
Al 475,318
NASS dgotd X3 6,920 8,200 1,280
201 LBt 2,000 2,000 0
01 AtR2telbl 2,000 2,000 0
OF0 STAHHIA 2 =7 2,000
202 04| 1,920 3,200 1,280
01 2L AL 1,920 3,200 1,280
OLEE HHIALH Y22z
120,0002 «2 & +82] 1,920
203 R =& 3,000 3,000
03 AIHF=RI AR =L 3,000 3,000
OLES MbIALH XA 27 2,000
OFQI=X Y2FZ 1,000
AI=XIEelg X 125,302 119,775 5,527
= 16,224
Al 109,078
307 212+01& 125,302 119,775 5,527
S 16,224
Al 109,078
04 QIZFHAIAIE B = 3,800 4,300 A500
OEHAIAFEI = XICHE] X 2 3,800
10 MEISXAIEHE2EHIEX 121,502 115,475 6,027
OAsI=XIEls 29 75,723




SX3H
FUMSX A A JEMA 2=
XESE SEAHIA JER= (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,144
Al 60,579
OArzI=XIE2l3 23 (XHA) 40,379
OAl - & AlRISXIJ1Z SAKNE =&
A& 5,400
oXFAR 2SR 1,800
== 360
Al 1,440
SNEEINE= e 3,600
= 720
Al 2,880
NSAt 2 ZEAM 23 105,005 60,511 44,494
== 7,590
Al 97,415
201 2= 42,360 2,520 39,840
01 At22t2lt] 42,360 2,520 39,840
OXNISFARI 22 2AM 2l FAE
70,0002 *30 & *22] 4,200
O NSARI2HEH 2oFA+g
20,0002 x1502 %122 38,160
307 @120l & 62,645 57,991 4,654
s 7,590
Al 55,055
10 Al2ISTIAEEE2HIEX 62,645 57,991 4,654
OXSAtzI2 - M gdat 37,950
< 7,590
Al 30,360
OXIM 2SS M & AHA] 24,695
SASTNAHLHAH KFAS 99,504 99,975 24T
307 gl2to| & 99,504 99,975 A4
1 AMISXAIEEXS 99,504 99,975 AT
OgHlI-4d Sst=sHMH =29 99,504
KNSt =X K& 1,240 1,740 A500
307 212+01™ 1,240 1,740 A500
11 AMRISXAEEES 1,240 1,740 A500
OXSASI 2 A XS A2 S XICHE 1,240
222X K& 432,750 521,000 88,250
= 346,200
== 43,275
Al 43,275
301 22N = 432,750 521,000 88,250
= 346,200
=S 43,275




2A:
X XH -
o e

=aak

0

2124 NS JEHA A=
XEE SEFMHIA JIBHS

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 43,275

01 Al EE A S (2 RDEEMA) 432,750 521,000 88,250
O2Z=A XA 432,750
= 346,200
= 43,275
Al 43,275

AR &2 XE 120,298 65,552 54,746
[ 9,238
= 12,030
Al 12,030

307 elztol & 120,298 65,552 54,746
= 96,238
< 12,030
Al 12,030

05 2ItRIE = 120,298 65,552 54,746
OIAttE 2201 dAHISH At 120,298
= 96,238
< 12,030
Al 12,030

KNSAAM2IMEIA SXAIY X 147,293 168,691 21,398
= 117,835
== 14,729
Al 14,729

307 212+01& 147,293 168,691 A\21,398
= 117,835
=S 14,729
Al 14,729

05 git?(& = 147,293 168,691 21,398
OXIEALEl ABIA EXHAS 147,293
[ 117,835
= 14,729
Al 14,729

KNS A2 MEIA SXAE 2SEH] XIE 1,562 1,563 A1
[ 1,250
= 156
Al 156

201 er2 3| 1,562 1,563 A1
[ 1,250
= 156
Al 156

01 At2teltl 1,562 1,563 A
OXIFAZIMHIA EXHAIE 222 ME S 1,562
= 1,250




SN =X
RZH OIAHEHT]

BAMHIA HEHH S

oy
ol XEE SEAMHIA DS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 156
Al 156
SHE XEY SEAMHIA X 78,900 78,900 0
= 55,230
Al 23,670
201 er2 3| 47,340 47,340 0
[ 33,138
Al 14,202
01 At 22|l 47,340 47,340 0
Os 20tz EA=SXAHIA A 23| 47,340
[ 33,138
Al 14,202
301 EtE NS 31,560 31,560 0
= 22,092
Al 9,468
01 Al EE AT Z(2RDEXR) 31,560 31,560 0
OS Z0bl= EASXABIA A XI2BI 31,560
= 22,092
Al 9,468
SHE X¥EE SEMHIA XA (XHA) 46,600 30,600 16,000
201 2= 4,200 4,200 0
01 At22t2l] 1,800 1,800 0
OR0Dt= BEA=SXAMHIA ALY B 1,800
03 Ar=EHI 2,400 2,400 0
O e 2435 A X2
300,000 *8IH A 2,400
206 MH=H| 40,000 24,000 16,000
01 M=4l 40,000 24,000 16,000
s S3Mg X
5,000,000 «8IH 2= 40,000
301 22N = 2,400 2,400
11 dALEEIXIE S 2,400 2,400
OS gy A 28 w= & 22 i 2,400
AZ7 SEAtel2tel K& 15,000 15,000 0
= 7,500
Al 7,500
201 er23| 7,500 7,500 0
[ 3,750
Al 3,750
01 AF22t2ltl 7,500 7,500 0
OSgAtdlZel AlY 23] 7,500
[ 3,750
Al 3,750




A SXNEH
ZH: FRMSTAMHIA BEHA A=
el StEE SEAHIA JIBRS (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 7,500 7,500 0
= 3,750
Al 3,750
01 Al EE A2 (2RNEXMR) 7,500 7,500 0
OSEAtallZtel At XI&] 7,500
= 3,750
Al 3,750
SE At Z2IAL SR 6,320 7,920 1,600
[ 3,160
Al 3,160
202 04| 6,320 7,920 1,600
= 3,160
Al 3,160
01 2LHoIH 6,320 7,920 21,600
OSEAdIZEIAL HRFA 6,320
= 3,160
Al 3,160
OSAH O & 2eMA 25 A 20,000 15,000 5,000
= 10,000
= 6,000
Al 4,000
301 LEtE N = 20,000 15,000 5,000
= 10,000
& 6,000
Al 4,000
01 AR HSFS(RRNEERTHE) 20,000 15,000 5,000
O1U=A fig= X 20,000
= 10,000
[ 6,000
Al 4,000
F X XA AL 31,536 0 31,536
= 25,228
< 3,14
Al 3,14
307 elztol & 31,536 0 31,636
= 25,228
=S 3,14
Al 3,14
11 ARRIS XA E X 31,536 0 31,536
OFH X X2 AL 31,536
= 25,228
= 3,14
Al 3,154
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2A:

X XH -
o=

SINESES N}
ARIZX] D18 =4

=Rl XFAEI=X Jlgh 5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A2IS X D18 24 156,384 95,899 60,485
=S 34,880
Al 121,504
NSGA2l =X D18 = 156,384 95,899 60,485
== 34,880
Al 121,504
ARISXIAF X9 et & S X2 50,000 50,000 0
< 25,000
Al 25,000
201 er23| 50,000 50,000 0
= 25,000
Al 25,000
03 A=Y 50,000 0 50,000
OAtISIIAIE SEdat X3 30,000
= 15,000
Al 15,000
OMISXBSRE A3t ATE 20,000
< 10,000
Al 10,000
ABISXAIY 2 SdsH(E) 60,684 37,939 22,745
307 lztol & 60,684 37,939 22,745
03 2IIHHEE2SHIEx 28,029 28,539 A510
OZOHIEtH 228I(200 =Hl) 28,029
1 AMEISXAIEEXS 32,655 9,400 23,255
OZOHAEH SXSTAF (KM 3IHAI) 32,655
ARISRRIZE B2 3,300 0 3,300
S 660
Al 2,640
201 =3 3,300 0 3,300
= 660
Al 2,640
01 At2tltl 3,300 0 3,300
OAl=RIdlE 22 3,300
= 660
Al 2,640
CHHAOHE S8 X3 35,000 6,000 29,000
s 7,000
Al 28,000
301 EtE NS 35,000 6,000 29,000
< 7,000
Al 28,000
02 MBI 2HHSFHS(HAANS, XLHE) 35,000 6.000 29,000
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2A:

SINESES I}

" fojel =X =&
= OIS MHIA et (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| OR44sl Zolelol i sAl 12,659
SOHQIEHR ALK 32,774 41,203 28,429
301 YpeE3 R.774 41,203 8,429
11 dALEBIXNIE S 32,774 41,203 A\8,429
OZOO! SHl SAF &I} S 3,000
OZONOIEHR] SXISTA(3H ST 6HAI
) 15,525
OXi282 H0HQ! OtAHEZ &I} 6,351
ORAE AI2TOfO! 3018 BZ 3,228
OEHSAl ZOHQICH SI8I3I 513 S5 4,670
ZOHIEM JIs2EZ 32,000 0 32,000
= 16,000
Al 16,000
402 2IZER=201H 32,000 0 32,000
= 16,000
Al 16,000
R ENEEENGEEY 3,000 0 32,000
OZONRIEHN Jls22(X 2e) 32,000
= 16,000
Al 16,000
Zojel =xNLN2l A 386,344 39,308 27,086
= 193,172
= 38,634
Al 154,538
101 2I24H| 379,844 361,308 28,536
= 189,922
= 37,964
Al 151,938
VBIEEESEERS 379,844 31,308 28,53
ORI L K21 XIB (0 ) 379,844
= 189,922
= 37,984
Al 151,938
201 Ler2aY| 6,500 8,000 21,500
= 3,250
= 650
Al 2,600
01 At 2teltl 6,500 8,000 21,500
Ozl 6,500
2 3,250
LS 650
Al 2,600
Zofel Letd gl N 541,332 443,538 97,794




2A:

E M

=XIE D}
Dol =X &

Selr ZOHRISX MHIA gt EER=E)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2

= 270,666
T 54,133
Al 216,533

101 214d| 540,132 442,038 98,094
= 270,066
& 54,013
Al 216,053

M4 II2H2EXNSE S 540,132 442,038 98,094
OZHofeIL T2 X (ML HI) 540,132
= 270,066
& 54,013
Al 216,053

201 Let2AH| 1,200 1,500 N300
= 600
& 120
Al 480

01 At22teld| 1,200 1,500 A300
O&eIdRtel 249 1,200
= 600
= 120
Al 480

ZOHCIAIZERI L Rt K1 210,520 192,162 18,358
= 105,260
= 21,052
Al 84,208

101 Q14| 210,020 190,662 19,358
= 105,010
T 21,002
Al 84,008

M IR E2EXNEES 210,020 190,662 19,358
OOl L X2 K2 (AI2HAI) 210,020
= 105,010
T 21,002
Al 84,008

201 LEt2HH| 500 1,500 A 1,000
= 250
T 50
Al 200

01 AF22t2lH| 500 1,500 A 1,000
O&ofeldxie| 249 500
= 250
T 50
Al 200




2A:

SINESES I}

2 Zoiel =X S
Chel: FONQISXI AHIA B (crel: g)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
AZLEOH QI CHOFAL THA 18,921 18,625 2%
= 15,137
= 757
Al 3,027
307 QIZ2t01 A 18,921 18,625 236
= 15,137
= 757
Al 3,027
10 Al = XA EHE2FHIE X 18,921 18,625 2%
OAIZHEONC! OHOFAF IHAHA(1H) 18,921
= 15,137
& 757
Al 3,027
TR QLUESAH EX 75,79 74,667 1,129
= 37,898
& 7,580
Al 30,318
307 QI2Hol ™ 75,796 74,667 1,129
= 37,898
& 7,580
Al 30,318
10 Al SXAEHE2EHIEX 75,7% 74,667 1,129
OLYEMe QUBSAt EX 75,7%
= 37,898
= 7,580
Al 30,318
ZOoHel NEFAEHAZ K2 77,000 70,000 7,000
& 38,500
Al 38,500
301 LB F 77,000 70,000 7,000
= 38,500
Al 38,500
02 ASI2EAH S (HUAHS, NSTHA) 77,000 70,000 7,000
Q&R DE=XE =z XA 77,000
= 38,500
Al 38,500
I ES=SNI={PIES) 309,448 300,523 8,925
= 216,614
= 64,984
Al 27,850
301 LBENZ 309,448 300,523 8,925
= 216,614
= 64,984




2A:

SINESES I}

. ZOje =X S8
= OIS MHIA et (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 27,850
01 Al EE A S (2 RDEEMA) 309,448 300,523 8,925
OZM=+=€0Ix) XA 309,448
= 216,614
= 64,984
Al 27,850
Fo= (X 8) 237,446 254,644 A17,198
= 166,212
= 49,864
Al 21,370
301 EtE N = 237,446 254,644 A17,198
= 166,212
< 49,864
Al 21,370
01 AR E2EHSFS(RNEERTHE) 237,446 254,644 A17,198
OZoi==g K& (a9 8) 237,446
= 166,212
< 49,864
Al 21,370
gojeli= X3 1,383,333 1,388,857 Ab,524
= 968,333
== 124,500
Al 290,500
301 22N = 1,383,333 1,388,857 Ab,524
= 968,333
=S 124,500
Al 290,500
01 Al EE AL S(FREXMH) 1,383,333 1,388,857 Ab,524
OFe A= 1,383,333
= 968,333
= 124,500
Al 290,500
o EsXE=0H XA 1,632,083 1,442,366 189,717
= 1,142,458
= 97,925
Al 391,700
307 gl2to| & 1,632,083 1,442,366 189,717
= 1,142,458
= 97,925
Al 391,700
05 212t S 1,632,083 1,442,366 189,717
OoHoel 2K 1,632,083
= 1,142,458




2A:

X XH -
o=

=XIE D}
Dol =X &

= OIS MHIA et (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 97,925
Al 391,700

ESEX RS0 7,978 6,732 1,246
= 5,585
== 479
Al 1,914

307 lztol & 7,978 6,732 1,246
= 5,585
== 479
Al 1,914

05 2ItRIE= 7,978 6,732 1,246
OFie 2SXJ IS 7,978
= 5,585
=S 479
Al 1,914

SEHTHEMHIA BIRH ALY 138,571 141,316 N2,745
= 97,000
= 8,314
Al 33,257

307 @I2t01 & 138,571 141,316 N2,745
= 97,000
= 8,314
Al 33,257

05 212+ =S 138,571 141,316 A2,745
OYEMEAMBIL BI2X AL 138,571
= 97,000
= 8,314
Al 33,257

LEHHR F2HESHHIA XIEH 542,083 525,458 16,625
= 379,458
= 32,525
Al 130,100

307 elztol & 542,083 525,458 16,625
= 379,458
< 32,525
Al 130,100

05 2ItRIE =2 542,083 525,458 16,625
Ogadie =1asAHlA X 542,083
= 379,458
== 32,525
Al 130,100

ZofelalE #=X3 6,000 0 6,000
= 1,200




2A:

X XH -
o=

=XIE D}
Dol =X &

Chel: FONQISXI AHIA B (crel: g)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2

Al 4,800

201 B2 AY| 6,000 0 6,000
T 1,200
Al 4,800

01 A=R2teld| 6,000 0 6,000
OFAZ ASXIRA 6,000
= 1,200
Al 4,800

MASEOHRN &ChH] 2 Z Al XI& 498 498 0
= 249
= 50
Al 199

307 QIZ2t01 A 498 498 0
= 249
T 50
Al 199

01 9z & 3=l 498 498 0
OMASEOHRl XEH] & ZAHE K& 498
= 249
T 50
Al 19

HdZoHe! EatdlE KNI 1,200 1,200 0
= 840
& 72
Al 288

301 LB F 1,200 1,200 0
= 840
& 72
Al 288

01 AISIBE XS (2 RETME) 1,200 1,200 0
OW&Ze! S4HIE XI= 1,200
= 840
T 72
Al 288

SOOI |7 K& 1,832 1,891 AB9
= 1,466
T 73
Al 293

307 2I2+01A 1,832 1,891 AB9
= 1,466
T 73
Al 293

01 22 & 3=H| 1,832 1,891 AB9




2A:

SINESES I}

. ZOje =X S8
= OIS MHIA et (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZofe EX017 X 1,832
= 1,466
== 73
Al 293
ZoHe! 2l=Hl K& 21,450 20,130 1,320
= 17,160
== 3,003
Al 1,287
308 XXM SOIE 21,450 20,130 1,320
= 17,160
= 3,003
Al 1,287
183 SIS U ZB XA AIE 21,450 20,130 1,320
OO0 o=Hl XI& 21,450
= 17,160
= 3,003
Al 1,287
ol =2y XA 56,048 54,048 2,000
== 11,210
Al 44,838
307 212+01& 56,048 54,048 2,000
< 11,210
Al 44,838
0192 & 3=l 8,000 6,000 2,000
Ol A8 X2 7,500
= 1,500
Al 6.000
OBl 28+ F&dl XA 500
=S 100
Al 400
11 AMEISXAEEES 48,048 48,048 0
O R4 X2 48,048
& 9,610
Al 38,438
ZONQI XtE SHOIIHA 2 HED| &X| K& 968 1,187 A219
= 194
Al 774
301 EtE2 NS 968 1,187 A219
=S 194
Al 774
02 ARSI S2E AT S(FIANS, XLETHE) 968 1,187 A219
OZ0HI Xt otolHA =& 4X| XI& 968
& 194




M SXE MY
= Zojel =X s

Selr ZOHRISX MHIA gt EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
| Al 774
ZOoHel HolAld 2tel 120,000 60,000 60,000
401 AIEHIZ SR OHYI 100,000 60,000 40,000
01 A&l 100,000 60,000 40,000
OFHe SXAIE SZEH 100,000
405 AHaHE S 20,000 0 20,000
01 ML ESHSHI 20,000 0 20,000
Ol =Ml S JIs2d 20,000
T)SESMRL 28 XY 9,600 12,000 2,400
201 L= 9,600 12,000 22,400
01 AFS2t2ltl 1,200 0 1,200
ORoIZHAIAY 2 1,200
02 324l 8,400 12,000 A3,600
OMAl Sit= 700,000 * 122 8,400
ZOoHR! JtE X 11,740 11,550 190
307 212t01™ 11,740 11,550 190
11 AR ZXAIE 2= 11,740 11,550 190
OZ0NQ! J1E XNIAIY F& 11,740
A2 QZIAIE H24 HEALY 8,000 16,000 A8,000

H
no
~
S

Al 5,600
402 BIHXH20I R 8,000 16,000 18,000
= 2,400
Al 5,600
2 BIFRHZAIL 2 E(OIE M) 8,000 16,000 8,000
OBIOAIL SEXIH| K& 8,000
= 2,400
Al 5,600
MHHH =D £2 At 16,660 16,660 0
201 LEH2 | 16,660 16,660
01 AfR22IH| 7,860 7,860
O HMaH== I ATH HI
14,0002 *4502 6,300
09Iyt LUAYIAAY ST
30,0002+ 122 1,560
2 ZZ2%H| 800 800 0
ONHSAYZ LR S22 800
03 BAF2 | 8,000 8,000 0
ONH =R A BA 8,000
S ETIEINESSINENT 592,811 606,716 £13,905
= 393,600

Al 199,211




2A:

E M

X=]

=XIE D}
Dol =X &

o HOHRISX MBIA SFat

SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 273,600 259,200 14,400
= 273,600
02 ARSI S2E AT S(FIANS, XLETHE) 273,600 259,200 14,400
OMIIEH O ZS &kt 23t et X 273,600
< 273,600
307 @120l & 319,211 347,516 28,305
== 120,000
Al 199,211
11 AR SXIAIEE 319,211 347,516 28,305
OXHMSHAI S & X (4HEH) 120,000
[ 60,000
Al 60,000
OTHMHH A E 3| SHStAF (4HEHH) 120,000
= 60,000
Al 60,000
OXIHMHKIE </ oOlsMHIA M3 (200
H) 57,516
OZ AN HAAATH EHHAIXIR A ALY 19,200
Ostotstial X1 2,49%
HH SST S HAE 10,800 1,800 9,000
S 2,160
Al 8,640
301 EtE2 NS 10,800 1,800 9,000
s 2,160
Al 8,640
02 ARSI 2E A S(FANS, XLETHE) 10,800 1,800 9,000
o4 sSHL Irated N 10,800
[ 2,160
Al 8,640
SIHHGHAE =o12td JHE & dES X3 A 10,000 0 10,000
= 5,000
Al 5,000
307 el2to| & 10,000 0 10,000
= 5,000
Al 5,000
1 AMISXAIEEX 10,000 0 10,000
OZIHI Mo A+ =18t e & 22 XA 10,000
== 5,000
Al 5,000
ZIH oA SROIEEH X3 AFS 30,000 0 30,000
= 15,000
Al 15,000
307 elztol & 30,000 0 30,000




2A:

SINESES I}

. ZOje =X S8
= OIS MHIA et (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 15,000
Al 15,000

11 AMEISXAEEES 30,000 0 30,000
OZIHITHoH At =<L0IME! X2 30,000
= 15,000
Al 15,000

ZIHHOH A S&3t Ar 40,000 0 40,000
=S 20,000
Al 20,000

307 @12t0| & 40,000 0 40,000
< 20,000
Al 20,000

11 AMEISXAEEES 40,000 0 40,000
OTHIMoH K SE3H AFS (4HEEH) 40,000
= 20,000
Al 20,000

Fo=XAIE 28 XIS 4,003,131 3,749,072 254,059
= 118,251
Al 3,884,880

ZofelsX2 23X 1,302,674 1,240,303 62,371
s 20,000
Al 1,282,674

307 @I2t01 & 1,262,674 1,240,303 22,371

10 Al2ISTIAEEE2HIE X 1,228,701 1,210,074 18,627
O EF=X2 2HXA(2H]) 1,120,167
=ll23(4%) 826,413
odEsd 82,524
oItESY 8,880
oARIEEE 109,952
cENNE= 2,398
Ol SE=A2 22| 83,310
O SE=A2 A2 20,224

1 AMISXAIEEXS 33,973 30,229 3,744
OZ0jQl SE=X2 At 33,973

402 2I2E X201 & 40,000 0 40,000
< 20,000
Al 20,000

02 QIZHXHZ AL E (01X THE) 40,000 0 40,000
Ol SE=A2 g 40,000
= 20,000
Al 20,000

OHAXSIHEANE 2SN A 1,283,987 1,199,536 84,451
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2A:

X XH -
o=

=XIE D}
Dol =X &
ZOHOI=XIAIS 29 X

s 2 (9 &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 123,654

307 gl2tol & 124,614 116,612 8,002
=S 960
Al 123,654

10 Al SXA2EE 22X 124,614 116,612 8,002
Oel2a DAL 2R 4,800
& 960
Al 3,840
ONA2SAIDAIE 2SRA(224]) 119,814
oJlEad 85,575
oItESY 3,840
oHEE 8,519
oAlREER 12,024
oENNES 9,8%

JOHUEHAA L2 HEH 2 68,388 52,940 15,448
=S 13,678
Al 54,710

307 @I2to| & 68,388 52,940 15,448
== 13,678
Al 54,710

10 Al2ISTIAIEEE 22X 68,388 52,940 15,448
OHAHAAN LR ALY 2 68,388
S 13,678
Al 54,710

JHUSXAIE SA SX=¢ 113,130 109,680 3,450
= 22,626
Al 90,504

307 gl2to| & 113,130 109,680 3,450
=S 22,626
Al 90,504

10 Al SXAEEE 22X 113,130 109,680 3,450
OZOMA=SXAIE SAHL SX=g 113,130
[ 22,626
Al 90,504

ZOHRI=XIDI2 SAEL MRMS = 7,200 7,200 0
= 1,440
Al 5,760

307 el2tol & 7,200 7,200 0
= 1,440
Al 5,760

1 AMISXAIEEXS 7,200 7,200 0
OZOHASX I 2 BAL LML+ 7,200
== 1,440




2A:

SINESES I}

2 Zoiel =X S
ol HOHOI=XAE 29 X (Shol: % 2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 5,760
ZoHel F2UHESAIE 2 179,712 129,744 49,968
307 2I2+0l™ 179,712 99,744 79,968
05 QIZtIEr 2 179,712 99,744 79,968
OFEHEHA| ZOHQIFIESAIE 2RI 146,408
oJlE2(MEHE, 33, 1183)
4,164,30021 1% 12 49,973
SIIZS(MEMERA, 32, 452)
2,466,740 x 1B+ 123 29,601
oJIE3(MITHE WAL, 33, 3&88)
2,400,820 x1F+ 122 28,810
oHELY (MR, 1188)
4,164, 3902 x1H 23| «60% 4,998
oHELY(AMIMME WAL, 32, 453)
2,466, 7403 * 1B %23 x60% 2,961
oHELY(MIIME WAL, 32, 383)
2,400, 820& * 1 x23| x60% 2,881
oIIELY 2,280
o4l BER 12,754
SISESESIE =, 12,150
OEHBHAl ZOHIF2HESAIE 2R (2Y
(D] 28,264
OEHBHAl EOHOIF2HESAIE 2SR (AF
gl) 5,040
ZOoHel AtelEAlel ME Z=z0d X# 20,000 0 20,000
& 10,000
Al 10,000
307 212+01™ 20,000 0 20,000
& 10,000
Al 10,000
11 Al SXAMEE X 20,000 0 20,000
OZOHR! ALSIE Mellig T2 20,000
= 10,000
Al 10,000
=tE=2el & X 2,679,355 1,817,331 862,024
& 259,280
Al 2,420,075
INE3A SRS 2,679,355 1,817,331 862,024
= 259,280
Al 2,420,075
2ItF3A K& 133,057 135,835 N2,778
307 212+01 A 133,057 135,835 AN2,778
02 QIZHAAAIEER 20,177 20,065 112
O=IIBECH MEESEER(A0IZ2EE]) 1,780




of
i’
oF
uJ

o o o O | o
2 2 2
- [aV]
n0 < D )
E
F=)
=2 S S S e S8 2
N~ S S S S S|(S S
% < < < % — |~ %
LH3r = =
<l
RIS
N 838 8kg8g8 I & S 8 S ® I mmmmwmwwmmm%mmmm mmm
N KRR NS oo o KN © & © - & 9l5®JIS®AIS S @Al T YSe g|lo T
[aV) — — M — 1 o « Yo} [ te] Al < ™| < OIS < (ep) N~ | —
= K L 583 8 &
af - :
<
=3
H = W = H = H = H
0
S
- S
N - K = = = OF o e
or fkr 20 ® R W o e R ®RW o ROR ™ 0
X0 |Ok o K 0k OF R 2! el H <F %0 = K0 10
m ol P W mEB o5 m W o Q9 & % W g
I L 1T R ==\ I v BB O s H W .
g W B oMy @y S S S S T $ 3 3 =
= B B Fe oW 2 7 3 7 3 I = ™ o =
o O[K K KK KKK 3 o & o o & o o R T
=z |H T H K M H I - - - - - - _ _ —
Wo W0 Mo w0 Mo o wo K ok ok ok ok ok ok ok ok - - -
~|lm @ wmaw mwmals s 3 T I T B |& v 0
= |so s 30 & & 3 e D & & s s s 3 & & | © =4
g | < X TP o B o W oH W WD Kk o
F IR R ORR RREpR R X B ® ® ® & g an mm 0
¥ uJ uJ ol ul ol o) o) zp U oJ ol ~ ul oJ o] uJ uJ =z K _ o|lT O no
= oy W o o W = A0 Mo~ Mo A0 Mo~ Mo Ao Ao | ) = Fo o g W |
o B DM T NN E o okm 0o O 0@ O O OF |0k S 3 O = W& o |
K N~ Nl ™ N1 NI o~ K N30 A NR el ol o | = o7l = oo )
RO i Mra) M0 M M0 0 M1 5 M MTOE Mo MK MA MTOF T 3| [ = = Ur M IESLEE
. O O O O O O 0 x O O O O O O O O ok ~ - O ok —|= O —
i S b S — b oo o
nd ™ |_M;_ Al (ep)
I+ r iK0




od
i’
oF
uJ

[l Nl Ne) (e} [l Ne) [ Ne)
g BE 2 g 3
"0 3 < <
KIo
E
E=)
S 2188 31818 3 218 3|2 3
=1 S|3|S & |[® |~ N =3k=t ©[© o ~
% [ap 2N NN Nap) “H7 N~ < | < [YoJN I QNN eV (ap)
LH3r =
<
RIS
gI8 88 8 88 8 8 glglg|g 8|l8|8|18 88388388 3|8|88|3|8|188 88 8|3
()] O O (@) O 0o A (@) N | OO O|OO| O |~ M~ MO O~ 100 ©O —|O|O0O Ol MO ™ N < O N~
ww 0 10 % @@ m o o|o|s|s old|o N o e RN = o
”Onrﬁ — |~ —
<
S
= Iy W
mo®® BB F 2 4 #3534
Y s a5 5B g - §§8%
il al g il oL = X X S o
m/\.ﬁ 2 g 2 8 g 8§ ko o oma%omcmm
- x X X x - — = =
o X owg ISERGRS S < S a Y S 3 2
Uom, =< 2 = [s]] o
ol = o
= R 58 8 nd B o o 30 M K
* Ko <k <+ bl R A i
= = 5 n s = = T oo K —~
. g 80 B g Mo 20 sp o K0 m, 47 K i)
= - T B ®0 =k o 2 | = I i B
) o [ ot @ P = B _5 w e oo = o R =
= B U n U s =z T I wl i T I LU w2
oF M.m - = N 1 ) P —|= & |MMMMM§WMM||%W = K "
% 20 B Mmoo O I N T I N s T el -1 = B L A B B o 7
=r o ur 0F ur ok 0F W lonlon <H|__fomlm T ob ol o ol ol ol [ |y oN |30 |oy|op ar Br N RO
iK o o ~ ] R ~ RN la|= B3 (|0 I = Ko K0 Ko KO KO[zf[= KON ||z < <F ar w0 | 3)
RO = 0 mr n0 K0 r 8o iof |on |®0 X w0 | ou = ol w0 B W W m W (o0 W |z |oN|w B B T Koo
: o O O O O O O |4|l=]|=e Ola|lz=|l2 © © OO OO O|l=|- Olglz|le ©O O O O|=
X < =|R1|° W | S| < S| YIRI|® S
I+ x ) ©




S SXEB D
mal: 2)PE

chel: 29 (ol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 2,700 3,200 A500
O6.258A HIt 3L 241 K&
9,000 *300& 2,700
2EAE 2| 20,968 20,656 312
201 Zet=3h] 20,968 20,656 312
01 AtR2t2|HI 5,968 5,65 312
O=AD| itz 60,0002 «12& 720
O22)| oF U sz HEsez
176,002 128 2,112
OISl oFBR| (Ea42
110,000& * 122 1,320
OSIZHIAIAE SX2el
110,000~ 128 1,320
OHItH &xt= 41,3203 * 122 4%
2 352484l 15,000 15,000 0
OAlZ EHl % %X 3,000,000& 3,000
O332s(dIl, =& 8)
12,000,000 12,000
EHEiAl €8 A D188 A8 600,000 600,000
401 Al HIZ R 0HbI 600,000 600,000
01 AlZ8| 600,000 600,000
OHZAl 58 & JI8E 2E 600,000
HH2IBJH(SXFHL) 240,594 233,463 7,131
= 81,010
Al 169,584
Jl=2dsl 28,379 30,599 N2,220
JI23Hl 28,379 30,599 N2,220
201 fer=3| 22,499 24,719 N2,220
01 AtR2t2|HI 18,899 20,879 1,980
O=RAMEg =28l 200,000& * 122 2,400
OMNREE FLU(SAMA S)
200,000 122 2,400
OHFAMRINI A2F 2¢
200,000 +6CH*23 2,400
O=ARI(EEINSXE
250,000 = 1CH* 122 3,000
odzd=sll iz
49,9003 *1CH* 122 599
O=gH| 9,0003x 15 +53]x 123 8,100
02 S3=gHl 3,600 3,840 A240
U= 300,000& * 128 3,600
202 04| 1,680 1,680
01 =LHOLI 1,680 1,680
Oul&2F 20|
20,0003 x21 & *42] 1,680




2A:

SINESES N}

M. HY2AFH(SXIEE)
el =2l (crol: M el)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
203 PRF=&H| 4,200 4,200
VEVEEEES 4,200 4,200
ORN2IYRFAI
350,000& =123 4,200
NEES 212,215 202,864 9,351
= 81,010
Al 131,205
QIHARHHI(SEAtHIZ2IAL) 151,124 143,544 7,580
= 50,498
Al 100,626
101 214 d| 139,383 132,314 7,069
ax 44,626
Al A, 757
03 SR (RIHL) 22X 139,383 132,314 7,069
OSEAMAZLIAHSEARY, 958) 44,579
SPIE= 2,195,097&*12& 26,342
s 13,171
Al 13,171
oAZ222R+E 2,128
ax 1,064
Al 1,064
S 2,195,007 & *45%*23| 1,976
SEFSE=wi] 2,195,007 & *60%*23| 2,635
cHits=ssYsY 125,138& 19! 2,378
oSSRy 50,0002 = 12& 600
S S e S =] 150,000& x 123 1,800
oY 90,000 12& 1,080
o JAHZ A 140,000& « 12& 1,680
ocXBG 180,000& x 12& 2,160
S IMHE R 80,0002 x12& 960
oltELY 40,0002 1%+ 122 480
SYNR-IE=PNRes Bt =y 30,0002+ 12& 360
OSEAtdZeIAHE AR, 12588) 47,066
oJlE2g 2,289,046& *12& 27,469
ax 13,735
Al 13,734
oAZIRIZR+Y 2,128,000& 2,128
= 1,064
Al 1,064
oHIsH 2,289,046 x50%*23| 2,290
o HAF I 2,289,046 x60%*23| 2,747
cHtsSsYsY 130,043 x 19! 2,472
oSSRy 50,0002 *12& 600




SXIE M
HY2AZH(SXE2D)
olzt2oty|
SA - B - C9l(3H) - NRAY - BES A
oMAT ALY 150,000& *12& 1,800
oY 90,000 *12& 1,080
o MG A| 140,000& « 12 1,680
S = 180,000 12& 2,160
o IJHHIE =t 80,000&*12& 960
=JERY 55,0003 =2« 12& 1,320
oA SRS R 30,0003+ 12& 360
OSEAMAZCIAHBHARR, 1688) 47,738
oJllEgs 2,421,256& 1238 29,056
s 14,528
Al 14,528
oAZRA2RE 2,128,000& 2,128
s 1,064
Al 1,064
&2 2,421, 2563 *50%*23| 2,422
cHEFIHI 2,421, 2563 *60%*22| 2,906
o= 136,082 19 2,586
oSSR 50,0002 12& 600
oXEesg 150,000 128 1,800
oY 90,0002 128 1,080
o Z Az AlH| 140,000& * 12& 1,680
oX2Y 180,000& *12& 2,160
<o JHAIE =4 80,0003 *12& 960
oA =SSR 30,0002+ 122 360
34 HAFRESS 11,741 11,230
s 5,872
Al 5,869
H3RE3 1,741 11,230
EIXNEF 1,741
oS AAZRIAHERARY, 85 E)
15,6422 xBA| 2H+30 3,755
s 1,878
Al 1,877
oS A2 (EEARH, 1153)
16,2622 xBA| 2H+30L 3,903
s 1,952
Al 1,951
oS AAZAHEHARE, 558)
17,0102 xBA| 2++30 4,083
s 2,042
Al 2,041
gHl( 23022 IAY) 61,091 59,320
s 30,512




SA: =XEH
M HYRAZH(SXFHL)
c9l: ol 2d| (crel &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 30,579
101 @1A4H| 61,091 59,320 1,771
[ 30,512
Al 30,579
03 SR (FIH )22 UHE 4 61,001 59,320 1,771
O22=20 Atdiztel(5E 014, Ji=) 61,001
oJllEag E ARIIZRE 38,140
s 30,512
Al 7,628
S Sat= 2,304, 7002 *400% 9,219
ocEEFIHI 2,304, 7002 «60%+*22] 2,766
cAXRERIITE 142,523 182 2,566
odASAHI 140,000~ 12& 1,680
otA=E 30,0003 x 122 360
S 140,000& 122 1,680
< A2 & 40,0002 122 480
oQIRE 100,000« 12& 1,200
oJtEsd 250,000& 122 3,000
Heas(=SXEHY) 675,830 687,297 A11,467
LIS HHXIE 675,830 687,297 A11,467
LHRHH XK= 675,830 687,297 A11,467
701 JIEtSI HSHES 675,830 687,297 A11,467
01 JIEtalAAES 675,830 687,297 A11,467
OoZ=ESSEN dES 675,830




